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1.r \Vhich Phase shili keying s,vstem is the capable of transmitting the binary signal 6 C03 BT1,

over fbllr ditferent phases" Explain hor.l,is it achieved and briefly explain about BTZ

the I'ransmitter and receiver of the system. BT 4

Q,2 A television signal with the bandrvidth of 6"4 MI{z is transmitted using binary'
PCM the number of qr"rantization levels are 1024.|)etermine the

a) Code nord lcngtl'r
b) 'l ransniission Randwidth
c) Irinal bit rate

Differentiate betwccn IPV4 and II']V6 addressing w'ith respect to follou,ing
parametcrs:

a) F'ieid names kept the same in IPV6 as in IPV4 and their functionalities
b) Names and Positions changcd in IPV6 and their functionalities

c) Field names not kept in IPV6 and their functionalities

Fir-rd the career. nrodulating liequency, modulation index and maximum
deviation of'the IrM wave reprcscnted by the equation

erM(t): 1B sin(4x106 + 6 sin 2150 r)
what pou,er w'ill F'M wave dissipate in a260 Q rcsistor

(Bessel function table provided overleaf)

Q"3

f

Q,s Encode the given bit stream fbr 10101010 lbr fbllowing line coding
techniclues:

I) NI{Z - I,
2) rrz I

3) Manchester Coding
4) Diff-erential Manchester Coding.

Also State the advantages and disadvantages of each.
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Q.6 The binary sequence 0010011 is to be transmitted using DEPSK .Show the step
by step procedure for obtaining DEPSK signal. Assuming arbitrary starting bit
as 0. Also give the methods of generation and detection of DEPSK system.
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